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14 289 K 54K WakE L Jr-6 3 m 07 +0.1
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24 667 £IL EBZE —i&Beast 5 3 m 25 +0.1
25 516 XKJIl R¥F ASSA-TC-6 3 m 44 +0.8
26 735 MHA KE EZfEED-6 3m68 +1.0
27 285 ARHE K& WakE L Jr-6 3m72+05
28 674 12H E1F —i&Beast 5 3 m 98 +0.3
29 490 F)Il & R ZEEIRC 6 4 m 45 +0.1
30 288 {ERBE ik WakELJr-6 4m07 +1.0
31 280 5% #8— HabE EJr-6 3m62 +1.0
32 736 lUK JIEFR EMELEY-6 5m 01 +1.0
33 654 A)I| KE —EBeast 6 4m 52 +05
34 195 ik [E =EpEL-6 3m 47 +05
3B 211 FiEE [{E =ikEfREL-6 3m 18 +0.2
36 193 {RiE =EEL-6 DNS
37 199 {5k Eth =EEL-5 3 m 55 +0.2
38 2908 EAT EEX ExkEL-6 4 m 57 +0.2
~RXk8
BB o= C=X:1| FiiE S0k I
1 736 WA JzEF7XR EEES-6 5m 01 +1.0
2 2908 EFT BEX XHbkEL-6 4 m 57 +0.2
3 654 Al 1KE —EBeast-6 4 m 52 +0.5
4 490 F)Il HIE A EEIRC 6 4 m 45 +0.1
5 288 {kfE Itk FabEEJr-6 4m07+1.0
6 674 f2H EIF — 5 Beast-5 3 m 98 +0.3
7 2587 FLlL HE EZELY-6 3m85 +1.0
8 285 A{RH KH WikE L Jr-6 3m 72 +05



BF AL

PR

HEIE TN - £ Al & 08k
1 2324 k% I —/=-5 34 m 02
2 748 ZH 1&—BR #EELY-6  55m 37
3 669480 KE —EBeast'5 40m 17
4 290 KRB #%hiE WELJI-6  34m38
5 2332 tTF HE —/=-6 30m 77
6 294 F%F K fikELJr-6 42m14
7 515 A E#H  ASSA-TC-6 41m22
8 571 NH KE JAC&IL'6 44ms4
9 277WAK BEAN  fkELEJI-6  50m 92
10 299 T f&EE WafEEJr-5 41 mO07
11 5713&¥F Hth JACE&IL-6 51mi10
12 2331 ;@ #8 —/=-6 49 m 88
~RZ8
BB Fon'— E2X: D] FilE soi%
1 748 #H 1&—BR EfELY-6  55m 37
2 5713&£F f§th  JACE&LIL'6 51m10
3 21TFW|AK BEAN  MifELJI-6  50m 92
4 2331 ;#H #{iFE —/=-6 49 m 88
5 571 NA X& JACEIL'6 44ms4
6 294 F thK MikELJr-6 42m 14
7 515 A E#H ASSA-TC-6 41m22
8 299 T f&ER WafEEJr-5 41 mO07



